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/* ijvic-2.c 2020.5.28 by M. Suzuki */

/* based on rcsj-3.c get parameter values from the command line */

/* ijvic-2 Q_value a_value tmax_value */

/* output filename ijvic2_Q’Q_value’_a’a_value’.txt */

/* output data \tau sin(\theta) d\theta/dt d2\theta/dt2 L\d I_J/dt \theta */
#include <stdio.h>

#include <math.h>

#include <stdlib.h>

#include <string.h>

static double alpha, Q;

double f1(double t, double x, double y)

{
return y;
}
double f2(double t, double x, double y)
{

return alpha-y/Q-sin(x);

int main(int argc, char *argvl[])

{
FILE *fp;
char filenameout[200], dummy[200];
double t, x, y, z, z1, h, dy, tmax;
double cj, cjl, dcj;
double k1[2], k2[2], k3[2], k4[2];
if (arge<4)
{
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printf ("Inappropriate number of arguments.\n");
printf("Usage: ijvic Q alpha tmax\n");
exit (0);

Q=atof (argv[1]);

printf ("%1f \n", Q);
alpha=atof (argv[2]);
printf ("%1f \n", alpha);
tmax=atof (argv[3]);
printf ("%1f \n", tmax);

strcpy(filenameout, "ijvic2_Q");
strcat(filenameout, argv[1]);

strcat (filenameout, "_a");
strcat(filenameout, argv[2]);
strcat(filenameout, ".txt");

fp=fopen(filenameout, "w");

h=0.01; // step of time t

x=0; // initial value of phase theta
y=0; // initial value of d phi/d t
dcj=0;

cj1=0;

for(t=o;t<tmax;t+=h)

k1[0]=£f1(t,x,y)*h;

k1[1]1=£f2(t,x,y)*h;

k2[0]=£f1(t+h/2, x+k1[0]/2, y+k1[1]/2)*h;
k2[1]=£2(t+h/2, x+k1[0]/2, y+k1[1]/2)*h;
k3[0]=f1(t+h/2, x+k2[0]/2, y+k2[1]/2)*h;
k3[1]1=f2(t+h/2, x+k2[0]/2, y+k2[1]/2)*h;
k4[0]=f1(t+h, x+k3[0], y+k3[1])x*h;
k4[1]=£f2(t+h, x+k3[0], y+k3[1])*h;
x+=(k1[0]+2.0%xk2[0]+2.0%k3[0]+k4[0])/6.0;
y+=(k1[1]+2.0%k2[1]+2.0xk3[1]+k4[1])/6.0;

cj=sin(x);
if (£==0) dcj=0;
else dcj=(cj-cj1)/h;

cjl=cj;

fprintf (fp, "ALENtALENEALENEALENEALEN\E)1E\n", t, cj, ¥y, alpha-y/Q-cj, dcj*cos(x), x);
}
fclose(fp);

B20RCSJOO0O0OO0ODOOOOODOO

0 (200000000

flx)=—cosx —ax+1

0000000000 f(2) =00000000000000000000000O0OOOOf (=) =000
smr=ao00000000000

fl@) =—cosx —xsinx +1
0000000 z>7/200000000000000000

copopoooooo

/* alpha-th.c 2020.6.4 by M. Suzuki */
/* U=-cos th - th\alpha=-1, sin th=alpha OO0 Newton DO DOODO =*/
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#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#include <string.h>

static double alpha, Q;
%ouble f (double x)

double y;
y=-cos (x) -x*sin(x)+1;
return y;

}
%ouble f1(double x)

double y;
y=-x*cos(x) ;
return y;

int main(int argc, char *argv[])

char buffer[100];
double d, x, x1, pi=M_PI;

x1=pi;

d=1e5;
while(d>1e-5)
{

x=x1-f(x1)/£f1(x1);
d=fabs (x-x1) ;
x1=x;

printf ("%1f\t(kled)\n", x, d);
printf ("alpha=%1f\n", sin(x));

B3DOoOOoOOoOOOooOOoOoOoOoOOobOOoOooobooOoobooono

gcc -o ELQ ELQ.c

0000000000 [pAJUC [fFIDe000000000O0OOO

ELQ IcCalpha
0000000000000 00000O#define 00 00O0OODODODOO0O0OOODOODOOOOOO
oL dooooooooobooon
NODOO+10
MAXOOODODODOOOOOOO
xLO000000000xkr0O0000
DISPLAYMAX O display 000000000 O0ODOODOODOO
EIGEN.OUTNUMBER Ul U0 U UOUOODODODODOO0O0O0OODDODODODOO0O0O0OO0OobObODbOOOOo

0000000000000 MacBook Pro Core i7 26GHz D OO 0O OO

copooooooo

/* ELQ.c */

/* Eigenvalues for a tilted washboard potential */

/* by the Jacobi method */

/* S_Jacobi() by K. Minemura http://www-in.aut.ac.jp/ minemura/pub/Csimu/C/Jacobi.html */
/* 2012.2.23, 2020.6.13 by M. Suzuki */

#include <stdio.h>

#include <math.h>
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#include <stdlib.h>
#include <string.h>

#define TOL 1.0e-10
#define N 201

#define MAX 500000
#define xL -0.6
#define xH 1.0
#define DISPLAYMAX 5
#define EIGEN_OUT_NUMBER 10

void SetMatrix(int n, double a[n][n], double Ic, double C, double alpha)
{

int i, j;
double hbar=1.05457266e-34; // [Js]
double e=1.60217733e-19; C

double EJ, EC, x, h;
double potential();
char buffer[100];

EJ=(hbar/2/e)*Ic; // [J]
EJ/=2%M_PIx*hbar; // [Hz]
EC=2%ex*e/C; // [J]
EC/=2%M_PIxhbar; // [Hz]

h=(xH-xL)/(n-1);
for(i=0;i<n;i++)
for(j=0;j<n; j++)
alil [j1=0;

for(i=1;i<n-1;i++)

x=xL+h*i;

a[i] [i]=2.0%EC/ (h*h)+potential(x, EJ, alpha);
a[i] [i+1]=-EC/ (h*h);

al[i] [i-1]=-EC/ (h*h);

}

a[0] [0]=2.0*EC/ (h*h)+potential(xL, EJ, alpha);
a[0] [1]=-EC/ (h*h) ;

a[n-1] [n-1]1=2.0*EC/ (h*h)+potential (xH, EJ, alpha);
a[n-1] [n-2]1=-EC/ (hx*h) ;

}
double potential(double x, double EJ, double alpha)
{
double y, z, U, UO;
z=asin(alpha) ;
UO=-EJ*(alpha*z+cos(z));
y=x+z;
U=-EJ*(alpha*y+cos(y))-U0;
3 return U;

int S_Jacobi(int n, double a[n][n], double x[n][n])

char buffer[100];
int i, j, k, m, count, status;
double amax, amaxO, theta, co, si, co2, si2, cosi, pi=M_PI;
double aii, aij, ajj, aik, ajk;
/* set initial values */
for(i=0; i<n; i++){

for(j=0; j<mn; j++){

if( i ==3) =x[i]1[j] = 1.0; else x[i]l[j] = 0.0;
}

}

/* repeat Jacobi similarity transformation */
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count=0;
status=9;
¥hile(count <= MAX)

/* seek for the maximum off-diagonal element */
amax=0.0;

for (k=0; k<n-1; k++)

{

for(m=k+1; m<n; m++)

amaxO=fabs (a[k] [m]);
if (amax0 > amax)
i=k;
j=m;
amax=amax0;

}
X
/* judge the convergence */
if (amax <= TOL)
{

status=0;
break;

else

{
aii=al[i] [i];
aij=alil [j];
ajj=aljlljl;

/* calculate the angle of rotation */
if (fabs(aii-ajj) < TOL)

{
theta=0.25*pi*aij/fabs(aij);
}
else
{
theta=0.5*atan(2.0*aij/(aii-ajj));
}

co=cos(theta);
si=sin(theta);
C02=C0%*CO0;
si2=gix*si;
cosi=co*si;

/* similarity transformation matrix */
ali] [i]=co2*aii+2.0*cosi*aij+si2*ajj;
aljl[jl=si2%aii-2.0%cosi*aij+co2*ajj;
alil[j]1=0.0;

aljl1[i]=0.0;

for(k=0; k<n; k++)

if (k1=i && k!=j)
{
aik=alk] [i];
ajk=alk] [j];
alk] [i]=co*aik+si*ajk;
ali] [k]=alk] [i];
al[k] [jl=-si*aik+co*ajk;

aljl [kl=alk] [j];
}

/* eigen vectors */
for(k=0; k<n; k++)

aik=x[k] [i];

ajk=x[k] [j];

x[k] [i]=co*aik+si*ajk;

x[k] [jl1=-si*aik+co*ajk;
}

count++;
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}

%f(ccunt % 100 ==0)
printf ("\r S_Jacobi > iteration=%d",count);
fflush(stdout) ;

}
printf("\n");
return status;

¥oid S_OutMat(int m, int n, double al[m] [n])

int 1i,j, k;
if (n>DISPLAYMAX) k=DISPLAYMAX;
else k=n;
for(i=0;i<k;i++)

for(j=0; j<k; j++)

{

printf (" %10.6le", alil[j1);

printf ("\n");

}
}
int main(int argc, char *argv[])
{

FILE *fp;

char filenameout[200];
char buffer[100];

int i, j, status, k, kk, mn;
double hbar=1.05457266e-34; // [Js]
double e=1.60217733e-19; // [C]

double a[N][N], x[N][N], d[N], dx, p;
double Ic, C, alpha, EJ;

if (arge<4)
{

printf ("usage ELQ ’Ic[uA]l’ °C[fF]’ ’alpha’\n");
exit (0);

if (N>DISPLAYMAX) kk=DISPLAYMAX;
else kk=N;

dx=(xH-xL) /N;

Ic=atof (argv[1]);

Icx=1e-6;

printf("Ic %le\n",Ic);
C=atof (argv[2]);

Cx=1e-15;

printf("C %le\n",C);
alpha=atof (argv[3]);

printf ("alpha %1f\n",alpha);

EJ=(0.5%hbar/e)*Ic; // [J]
EJ/=2%M_PIxhbar; // [Hz]

strcpy (filenameout, "ELQ_Ic");
strcat(filenameout, argv[1]);
strcat (filenameout, "C");
strcat (filenameout, argv([2]);
strcat(filenameout, "a");

strcat (filenameout, argv[3]);

strcat (filenameout, "d");

sprintf (buffer, "%d", N);

strcat(filenameout, buffer);
strcat(filenameout, ".txt");

printf ("Output filename %s\n", filenameout);

SetMatrix(N, a, Ic, C, alpha);
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if (N>DISPLAYMAX) k=DISPLAYMAX;
else k=N;
for(i=0;i<N;i++)

printf("%d ",i);
for(j=i-1;j<i+2;j++)

printf("%le ",alil [j1);

printf("\n");
I/

printf("matix to be diagonalized\n");
S_OutMat (N, N, a);

printf("carry out the Jacobi method for engenvalue problems\n");
status=S_Jacobi(N, a, x);

/* sort in order of increasing eigenvalue */
for(i=0;i<N;i++)

d[il=ali] [i]; /* diagonal components */

/* exchanges eigenvalues, together with eigenvectors, i.e. columns of x,
mn=0; /* number of negative eigenvalues */
for (i=0;i<N-mn;i++)

%f(d[i]<0 && i!=N-mn-1)

p=d[k=i];
while(d[N-mn-1]1<0) mn++;
d[k]=d[N-mn-1];
d[N-mn-1]=p;
for(j=0;j<N;j++)

p=x[j] [k];
x[j] [x1=x[j] [N-mn-1];
x[j] [N-mn-1]=p;

}
mn++;
}
for (i=0;i<N-mn;i++) /* positive eigenvalues */
{
p=d[k=i];
for(j=i+1;j<N-mn;j++)
if(d[jl<=p) p=dlk=j]; /* seeking the smallest component */
}
if (k!'=i)
{
dl[k]=d[i];
d[il=p;
for(j=0; j<N; j++)
p=x[j1[i];
x[j1[11=x[j] [k];
x[j] [k1=p;
}
}
}
for(i=N-mn;i<N;i++) /* negative eigenvalues */
p=d[k=i];

for(j=i+1;j<N;j++)

if(d[jl1<=p) p=d[k=j]; /* seeking the smallest component */
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%f(k!=i)

d[k]=d[i];

d[il=p;

for(j=0; j<N; j++)
p=x[j][i];
x[j1[i1=x[j1 [k]1;
x[j1 [k1=p;

}

fp=fopen(filenameout, "w");

for(i=0;i<N;i++)
fprintf (fp, "%1lf\t%le", xL+i*dx, d[i]);
for(j=0; j<EIGEN_OUT_NUMBER; j++) fprintf(fp, "\tklf", x[il[j1);
fprintf (fp, "\n");

}

fclose(fp);

%f(statu ==0)
printf("eigenvalues \n");
for(i=0; i<kk; i++) printf("%10.61le ", d[il);
printf ("\n");

printf ("eigenvectors\n");
S_OutMat(N, N, x);

B4aODODOOOOODOOOOOOODOODOOODOODOOOODOO
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double potential(double x, double EJ, double alpha)
{

return 0.5*%EJ*cos(asin(alpha))*x*x;
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